CANDIDATE ADVERTISEMENT AGREEMENT FORM

Neil Williams	harges. See Invoice for actual schedule and charges. , hereby request station time as follows:
IDENTIFY CANDIDATE TYPE	FEDERAL CANDIDATE STATE OR LOCAL CANDIDATE
ALL QUESTIONS/	BLOCKS MUST BE COMPLETED
andidate name:	
Ben Blus	
kuthorized committee:	രത്തുന്ന പ്രത്യോ അനുവിട്ടുൻ പ്രവേശ പ്രവ്യം അത്യന്ത് പ്രവയ്യിൽ പ്രവേശങ്ങൾ പ്രവേശ വര്ഷ്യ വര്ഷ്യ വര്ഷ്യ വര്ഷ്യ വര്ഷ്യ വര്ഷ്യ വര്യവാന് വര്ഷ്യ വര്ഷ വര്ഷ്യ വര്യ വര്ഷ്യ വര്ഷ്യ വര്ഷ്യ വര്ഷ്യ വര്ഷ്യ വര്യ വര്ഷ്യ വര്
Ben Blus for Texas House District 12	
Agency requesting time (and contact information):	winder spielele tier zu Williamin und dang und wielelele der der Sternen der Sternen der William von der Sternen der Sterne der Sternen der Sternen der Sterne d
Edgerton Strategles; 1540 Keller Parkway;	#108-402 Keller TV 76248
andidate's political party:	THE CONTINUES INVESTIGATION OF THE CONTINUES OF THE CONTI
Republican	
Office sought (no acronyms or abbreviations):	and the state of t
Texas House of Representatives - District 12	
Date of election:	General Primary
reasurer of candidate's authorized committee:	The state of the s
Andrew J Bolton	
he undersigned represents that:	entitive according to the second to the seco
1) the payment for the broadcast time requested has	s been firmiched by (chark one box helew)
the candidate listed above who is a legally qu	
the authorized committee of the legally qualif	
2) this station is authorized to announce the time as p	
	olicies, including applicable classes and rates, discount, promotion
THIS STATION DOES NOT DISCRIMINATE OR PER IN THE PLACEMENT OF ADVERTISING.	MIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Committee/Agency	Station Representative
Signature: WX	Signature: Cours Advo-
dame: Nell Williams	Name: Johny R. Va Shock
Date of Request to Purchase Ad Time: 2/1/24	Date of Station Agreement to Sell Time: 2/. /

Federal Candidate Certification: The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosure either (1) does not refer to an opposing candidate or, if it does, (2) contains a clearly identifiable photograph or similar image of the candidate for a duration of at least four seconds and a simultaneously displayed printed statement identifying the candidate, that the candidate approved the broadcast and that the candidate and/or the candidate's authorized committee paid for the broadcast or if radio programming, contains a personal audio statement by the candidate that identifies the candidate, the office being sought and that the candidate has approved the broadcast.												
Candidate/Authorized Committee/	Candidate/Authorized Committee/Agency											
Signatura:												
Name:	The second secon											
Date:		Ministrative en seus ministra des profesos (e el el many de la elementación de la company de elementación de c										
1.0	O BE COMPLETED BY STATION OF	VLY										
Ad submitted to Station?	No Date ad received:											
Note: Must have separate PB-19 For	rms for each version of the ad (i.e., for e	every ad with differing copy).										
Federal candidate certification signed (a	bove): Til Yes Til No	≥d wa										
Rejected – provide reason:	y nat yet received to determine sponsor ID)	ovidentum ka deministra ir ini masingapa paga simol dikaningan pagainga kan kan paga dan ka paga ban ka paga pa										
*Uplead partially accepted form, then pr	emptly upload updated final form when co	mplete.										
Date and nature of follow-ups, if any (e.g	., insufficient sponsor ID tag):	Frank Fore and										
Contract # 3 110 Fat 6	Station Call Letters:	Date Received/Requested: 2/s/24										
	Station Location: Bey Au, TERAS	Run Start and End Dates:										
purchased or attach separately. If station	raffic system print-out) or other documents time purchased, when spots actually aired, will not upload the actual times spots aired tinformation immediately should be placed	reflecting this transaction to the OPIF or the rates charged and the classes of time										

	REVISED									
	Feb 06, 24									
CONT#	37108006 Mod# 2 Ver# 5 (Last = MOD 1 CF)	DDS CONT# 0								
REP	EASTMAN	C/P/E: na / na / 11070								
ГО	KTAM-AM (Bryan-College Station, TX)									
FM	TERRANCE HOUSTON									
OFF	PHILADELPHIA	SALESPERSON FAX#								
AGY	EDGERTON STRATEGIES									
ADDR	1540 KELLER PARKWAY 108-402	PH#								
	KELLER, TX 76248	8 5.00 M								
BYR	NEIL WILLIAMS									
ADV	BEN BIUS FOR STATE HOUSE									
PDT	House District 12 - NON PREMPT									
FLT	Feb 07, 24 - Mar 05, 24									

^{*} REP ORDER COMMENT *

^{** 2/5/2024 8:24:00} PM: REVISED ORDER TO THIRTIES. NON PREMPT RATES BOOKED. PLEASE DO NOT DOUBLE BOOK. PLEASE CONFIRM WITH ANGELA.HOMAN@KATZMEDIA.COM. THANK YOU

MC	LN	DAYS	TIME	LEN	EFFECTIVE DATES	# OF WKS	NPW	RATE	TOT SPTS
		FLIGHT 1							
CHG	1.1	WTF	6A - 10A	30	2/7/2024 - 2/9/2024	1W	3	\$19.00	/ 3
CHG	1.2	WTF	10A - 3P	30	2/7/2024 - 2/9/2024	1W	3	\$19.00	
CHG	1.3	WTF	3P - 7P	30	2/7/2024 - 2/9/2024	1W	3	\$19.00	l 5 8
				** WE	EKLY FLIGHT TOTALS **	¥.	9	\$171.00	
		FLIGHT 2							77
CHG	2.1	MTWTF	6A - 10A	30	2/12/2024 - 2/16/2024	1W	6	√ \$19.00	6
CHG	2.2	MTWTF	10A - 3P	30	2/12/2024 - 2/16/2024	1W	6	\$19.00	1
CHG	2.3	MTWTF	3P - 7P	30	2/12/2024 - 2/16/2024	1W	6	\$19.00	6
ADD	2.4	MTWTF	7P - 12A	30	2/12/2024 - 2/16/2024	1W	1	\$12.00	1
				** WE	EKLY FLIGHT TOTALS **	J.	19 3	\$354.00	100000000000000000000000000000000000000
		FLIGHT 3					9	,	
CHG	3.1	MTWTF	6A - 10A	30	2/19/2024 - 3/1/2024	2W	8	√, \$19.00	16
CHG	3.2	MTWTF	10A - 3P	30	2/19/2024 - 3/1/2024	2W	8		
CHG	3.3	MTWTF	3P - 7P	30	2/19/2024 - 3/1/2024	2W	8	\$19.00	16
ADD	3.4	MTWTF	7P - 12A	30	2/19/2024 - 3/1/2024	2W	1	\$12.00	2
				** WE	EKLY FLIGHT TOTALS **		25	\$936.00	
		FLIGHT 4							
CHG	4.1	MT	6A - 10A	30	3/4/2024 - 3/5/2024	1W	1	\$19.00	1
CHG	4.2	MT	10A - 3P	30	3/4/2024 - 3/5/2024	1W	1	\$19.00	1
CHG	4.3	М	3P - 7P	30	3/4/2024 - 3/4/2024	1W	1	\$19.00	1

Feb 06, 24

CONT#

37108006 Mod# 2 Ver# 5 (Last = MOD 1 CF)

REP

EASTMAN

DDS CONT# 0

C/P/E: na / na / 11070

			** WEEKLY FLIGHT TOTALS ** 3 \$57.00
	Feb 24	Mar 24	
SPOTS	53	28	
CASH	993.00	525.00	
TRADE	0.00	0.00	
NSL	0.00	0.00	
TOTAL	993.00	525.00	

	THE RESERVE THE PROPERTY OF TH	
SPOTS		TOTAL
		81
CASH		1,518.00
TRADE		0.00
NSL	·	0.00
TOTAL		1,518.00

** Competitive Comments **

HD12-TX

SVC:

Demo Adults 35+

Nondiscrimination -Paragraphs 49 and 50 of the United States Federal Communications Complission's Report and Order No. 07-217 provides that broadcast stations' advertising contracts will not discriminate on the basis of race or ethnicity, and must contain nondiscrimination clauses. Consistent with this order, Katz Communications, Inc. (including any subsidiary or division of Katz) does not discriminate in any broadcast advertising contract on the basis of race or ethnicity and evaluates, negotiates and completes its broadcast advertising contracts without regard to race or ethnicity.

Date: 2/06/24

Sales Order

KTAM-AM				Agency:	EDGERTON ST	RATEGIES				
me: Exchange (Order 37108006-01	·		Address:	Attn: NEIL WILL	Attn: NEIL WILLIAMS				
••••		30	06159		1540 Keller Par	kway				
2/07/24	End Date:	3	/05/24	City:	Keller	State: TXZip:	76248			
pe: AGENCY		Type:	Cash	Buyer:	Neil Williams					
BEN BIUS FO	OR STATE HOUSE			Tax Sched	lule:		(None)			
				Agency Co	ommission %: 15					
	State: Zip:									
ne: House Distr	ict 12 - NON P			Salesperson: 1794KKATZ Comm %:						
11070			Makegood Policy: Requires Client Approval							
nt Code: na		· · · · · · · · · · ·								
Code: POLITCA	\L									
	me: Exchange (2/07/24 pe: AGENCY BEN BIUS FO ne: House Distr 11070 nt Code: na	me: Exchange Order 37108006-01 2/07/24 End Date: pe: AGENCY BEN BIUS FOR STATE HOUSE State: Zip: ne: House District 12 - NON P 11070 nt Code: na	me: Exchange Order 37108006-01 30 2/07/24 End Date: 3 pe: AGENCY Type: BEN BIUS FOR STATE HOUSE State: Zip: ne: House District 12 - NON P 11070 nt Code: na	me: Exchange Order 37108006-01 3006159 2/07/24 End Date: 3/05/24 pe: AGENCY Type: Cash BEN BIUS FOR STATE HOUSE State: Zip: ne: House District 12 - NON P 11070 nt Code: na	me: Exchange Order 37108006-01 3006159 2/07/24 End Date: 3/05/24 City: pe: AGENCY Type: Cash Buyer: BEN BIUS FOR STATE HOUSE Tax Scheol Agency College A	me: Exchange Order 37108006-01 Address: Attn: NEIL WILL 3006159 1540 Keller Par 2/07/24 End Date: 3/05/24 City: Keller Pe: AGENCY Type: Cash Buyer: Neil Williams BEN BIUS FOR STATE HOUSE Tax Schedule: Agency Commission %: 15 State: Zip: Billing Cycle: Standard ne: House District 12 - NON P Salesperson: 1794KKATZ Makegood Policy: Requires Cleant Code: na	me: Exchange Order 37108006-01 3006159 1540 Keller Parkway 2/07/24 End Date: 3/05/24 City: Keller State: TXZip: pe: AGENCY Type: Cash Buyer: Neil Williams BEN BIUS FOR STATE HOUSE Tax Schedule: Agency Commission %: 15 State: Zip: Billing Cycle: Standard ne: House District 12 - NON P Salesperson: 1794KKATZ Comm %: Makegood Policy: Requires Client Approval			

	TOTALS			DISTRIBUTION							ł		TIMES		Alt	ΓES	DAT		
PTY	\$\$	SPOTS	RATE	D/W	Per Wk	SU	SA	F	Т	W	Т	М	LEN	END	START	wks	END	START	Nο
3	57.00	3	19.00	W	3			X	Х	Х			30	10:00 AM	6:00 AM		2/09/24	2/07/24	1
Approved-		ļ																	
3	57.00	3	19.00	W	3			Х	Х	Х			30	3:00 PM	10:00 AM		2/13/24	2/07/24	2
Approved-		,		•		,,													
3	57.00	3	19.00	W	3			Х	Х	Х			30	7:00 PM	3:00 PM		2/13/24	2/07/24	3
Approved-				•															
3	304.00	16	19.00	W	8			Х	Х	Х	Х	Х	30	10:00 AM	6:00 AM		3/01/24	2/19/24	4
Approved-				•															
3	114.00	6	19.00	W	6			Х	Х	Х	Х	Х	30	10:00 AM	6:00 AM		2/16/24	2/12/24	5
Approved-				•															
3	114.00	6	19.00	W	6			Х	Х	Х	Х	Х	30	3:00 PM	10:00 AM		2/16/24	2/12/24	6
Approved-																			
3	304.00	16	19.00	W	8			Х	Х	Х	Х	Х	30	3:00 PM	10:00 AM		3/01/24	2/19/24	7
Approved-																			
3	114.00	6	19.00	W	6			Х	Х	Х	Х	Х	30	7:00 PM	3:00 PM		2/16/24	2/12/24	8
Approved-																			
3	304.00	16	19.00	W	8			Х	Х	Х	Х	Х	30	7:00 PM	3:00 PM		3/03/24	2/19/24	9
Approved-																			
3	19.00	1	19.00	W	1						Х	Х	30	10:00 AM	6:00 AM		3/05/24	3/04/24	10
Approved-				•															
3	19.00	1	19.00	W	1						Х	Х	30	3:00 PM	10:00 AM		3/05/24	3/04/24	11
Approved-				•															
3	19.00	1	19.00	W	1							Х	30	7:00 PM	3:00 PM		3/04/24	3/04/24	12
Approved-		'													'			•	Ì

Date: 2/06/24

No-	DATES Alt TIMES				1ES	T	DISTRIBUTION								DATE	TOTALS		D.T.\	
NO	START	END	wks	START	END	LEN	М	T	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	PTY
13	2/12/24	2/16/24		7:00 PM	12:00 AM	30			Х					1	W	12.00	1	12.00	3
																			Approved-
14	2/19/24	3/01/24		7:00 PM	12:00 AM	30			Х					1	W	12.00	2	24.00	3
					-														Approved-

Billing Projecti	ons: By I	Month						
		Feb 24	Mar 24					
	CA	1,404.00	114.00					
	ST	993.00	525.00					
✓ Print Sp	ot Price	s			TOTAL :	SPOTS		81
Notes to Traf	fic: Rep	Firm Comn	nent: Revised pr	oduct to	GROSS	TOTAL \$		1,518.00
say non pre	empt	. NON PREE	MPTIBLE RATI	ES				
purchased	note h	as been add	ed per owners r	equest.		\$		
Do not dou	ble bo	ok. Please d	onfirm with					
angela.hon	nan@k	atzmedia.co	m. Thank you		APPRO'	VE DECLIN	NE	
; ;						\bigcirc	NXT	
					\bigcirc	\bigcirc	Sales Manager	
						\bigcirc	National Sales Manager	
					\bigcirc	\bigcirc	Local Sales Manager	